[ Efficiency vs vertpos |
- 0.2

CJVIT: | SERTTRRRPN FRTRPRRR b
2, q6F : :
U S
2 - .
©0.14F
Q o
50.12 :
0.2 mmmeieeeeeas
0.08
0.06
0.04
0.02

Lt

1072 107 1

| RACAN RARAD RARAN RAEE LA AN RN RARE
——

.. —*.—..T.lt—.:. cees
: e
5+'

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficienq —— pom_mkFit_TThase

N 0.2
20.18
(2] n
>0.16F
>

LC) C
$0.14F
o L
£0.12F
(]

0.1
0.08F
0.06F
0.04
0.02

0
1.4

Ratio

=
N

14

1
2
:
.

-20 -10 0

30
TP vert z (cm)

b
o

[ Efficiency vs. sim PV z |
~n 0.2
> o
a0.18
c o
7 0.16
20.14
z
c0.12
0.1
0.08F
0.06F
0.04F
0.02F

e

efticie

R

Ratio
P
N

—20-15 -10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


